
NodeId(number=0, buildId='1651668931.8960013-5004')
isr

instrument = HSC
detector = 41

exposure = 322

postISRCCD
run: None

instrument = HSC
detector = 41

exposure = 322

isr_metadata
run: None

instrument = HSC
detector = 41

exposure = 322

isr_log
run: None

instrument = HSC
detector = 41

exposure = 322

raw
run: 'HSC/raw/all'
instrument = HSC

detector = 41
exposure = 322

transmission_sensor
run: 'HSC/calib/DM-28636/unbounded'

instrument = HSC
detector = 41

flat
run: 'HSC/calib/gen2/20180117/20140325T000000Z'

instrument = HSC
detector = 41

physical_filter = HSC-Y

bfKernel
run: 'HSC/calib/DM-28636/unbounded'

instrument = HSC

yBackground
run: 'HSC/calib/gen2/20180117/unbounded'

instrument = HSC
detector = 41

physical_filter = HSC-Y

fringe
run: 'HSC/calib/gen2/20180117/20140325T000000Z'

instrument = HSC
detector = 41

physical_filter = HSC-Y

dark
run: 'HSC/calib/gen2/20180117/20140131T000000Z'

instrument = HSC
detector = 41

transmission_atmosphere
run: 'HSC/calib/DM-28636/unbounded'

instrument = HSC

camera
run: 'HSC/calib/DM-28636/unbounded'

instrument = HSC

transmission_optics
run: 'HSC/calib/DM-28636/unbounded'

instrument = HSC

transmission_filter
run: 'HSC/calib/DM-28636/unbounded'

instrument = HSC
physical_filter = HSC-Y

defects
run: 'HSC/calib/DM-28636/curated/20130131T000000Z'

instrument = HSC
detector = 41

bias
run: 'HSC/calib/gen2/20180117/20140329T000000Z'

instrument = HSC
detector = 41

NodeId(number=1, buildId='1651668931.8960013-5004')
characterizeImage
instrument = HSC

detector = 41
visit = 322

icSrc
run: None

instrument = HSC
detector = 41

visit = 322

icExpBackground
run: None

instrument = HSC
detector = 41

visit = 322

icExp
run: None

instrument = HSC
detector = 41

visit = 322

characterizeImage_metadata
run: None

instrument = HSC
detector = 41

visit = 322

characterizeImage_log
run: None

instrument = HSC
detector = 41

visit = 322

NodeId(number=2, buildId='1651668931.8960013-5004')
calibrate

instrument = HSC
detector = 41

visit = 322

srcMatch
run: None

instrument = HSC
detector = 41

visit = 322

calexpBackground
run: None

instrument = HSC
detector = 41

visit = 322

calexp
run: None

instrument = HSC
detector = 41

visit = 322

src
run: None

instrument = HSC
detector = 41

visit = 322

srcMatchFull
run: None

instrument = HSC
detector = 41

visit = 322

calibrate_metadata
run: None

instrument = HSC
detector = 41

visit = 322

calibrate_log
run: None

instrument = HSC
detector = 41

visit = 322

ps1_pv3_3pi_20170110
run: 'refcats/DM-28636'

htm7 = 231858

ps1_pv3_3pi_20170110
run: 'refcats/DM-28636'

htm7 = 231869


